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Refer to Example 4.40. An um contains eight red balls, eight white balls, and eight blue balls, and sample of four balls is drawn at random without
replacement.

Compute the probability that all of the balls in the sample are the same color. (Round your answer to four decimal places.)
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In a suitable font, the letters A, H, I, M, O, T, U, V, W, X, Y are all mirror images of themselves. A string made from these letters will be a mirror image of
itself if it reads the same backward as forward: for example, MOM, YUMMUY, MOTHTOM. If a four-letter string in these letters is chosen at random, what
s the probability that this string is a mirror image of itself? (Round your answer to four decimal places.)
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An um contains three red balls, five white balls, and two black balls. Three balls are drawn from the um at random without replacement. For each red ball
drawn, you win $8, and for each black ball drawn, you lose $12. Let X represent your net winnings.

Compute E(X), your expected net winnings.
E(x) =
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The following figure consists of 8 horizontal lines and 13 vertical lines. The goal of this problem is to count the number of rectangles (squares are a kind of
rectangle, but line segments are not).

Let V be the set of all sets of two vertical lines, and let H be the set of all sets of two horizontal lines. Let R be the set of all rectangles in the figure.
Define a function f:R - Vx H by

A c

L (e, o3, tac, o).

D
Compute [RI, the number of rectangles in the figure.

‘Suppose you have eight squares of stained glass, all of different colors, and you would like to make a rectangular stained glass window in the shape of a
2 x4 grid.

How many different ways can you do this, taking symmetry into account? (Note that any pattem may be rotated 180°, fiipped vertically, or fiipped
horizontally. You should count al the possible resuiting patterns as the same window.)
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Is it possible for a graph with 10 vertices and 53 edges to be simple?
O Yes

O No

Explain.

I ‘This answer has not been graded yet
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‘Suppose that 100 lottery tickets are given out in sequence to the first 100 guests to arrive at a party. Of these 100 tickets, only 11 are winning tickets.
The generalized pigeonhole principle guarantees that there must be a streak of at least / losing tickets in a row. Find /.
1
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A multiple choice test consists of five questions, each of which has four choices. Each question has exactly one correct answer.

William guesses randomly at each answer. What is the probal
places.)
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ity that he gets three or fewer questions correct? (Round your answer to four decimal





